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| SECTION A: SURVEYING 1
Answer ar least TWO guestions from this section.

1. {a)  In order o find the vail levels of an existing raalway, 4 point A was miarked on the rail,
then points at distances in multiples of 20m from A and the fallowing readings WETE
taken:

Backsight 330 on OBM 23,10 |
Intermediate sights on A A+ a0 sind A+-40,281, 251 imd 222 pespectively,
A+ A0 Change point: foresight 1 B8, backsight 2.61.

Intermediate sights.on A+ &0 and &+ 100,232 und | 52 respectively; and finally a
foresight of 1.54 on A+ 120, a1l being in metres. Tabulule and reduce the above
rendings on 1he collimation system and apply the suitahle arithmetic check

(11 marks)
(b)  Define surveying. : NI e (3 marks)
: Py
(¢y  Explain the following: i W
i L I_‘.':_:-1 s ik
{i) opoeraphical surveying:
(i) cadasteal SUTVEYIDE;
(i) aerial surveying.
i marks)
2 {a)  Explainthe three main sources of erors in levelling. (12 marks)

(by  Reciprocal uhﬁpﬂ;ﬂkm ahile levelling a cross 4 wide river gave the following readings
an 1o staves held yertically at R and S from instruments stationed at Pand Q:

reading of staff ar R from P = |.332 m;
mﬁdiugufmffmﬂirmnp = 1 016 m
readingnfsrmﬁatﬂfmml] = 1604 =
reading of staff-arS from Q= 1.278 m,

R and P were close to cach other a_m' otie bank with 5 and Q simitarly situated on the
ther bank. 10 the reduced level of 5 18 |} A76m AOT, what is the level of R?
' (& marks)

2705/104, 2707104
2709/104, 2710/104
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